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No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 = RHET R4.7.20 =S| BEE9(<6.1) BRHEE9(<6.8) BRHEEY
2 = RET R4.7.20 =SS BREEI(<11) BREE9(<7.3) - Janpcc
3 N /N R4.7.20 =SS BREE9(<84) BREE3(L7.1) - Janpcc N
4 N /NG R4.7.20 =SS BREE3(<74) BREE9(<8.1) - Janpcac N
5 KEHh R4.7.20 =SS BREE9(<8.0) BREE9(<7.0) - Janpcc
6 N /N R4.7.20 =SS BREE3(<L7.1) BREEF(1) - Janpcc N
7 N /NG ] R4.7.20 =SS BRHE9(<6.6) BRHET(<L5.0) BRHEY
8 N /N ] R4.7.20 =SS BRHET(<L7.9) BRHEET(<L7.0) BRHEY
9 ZARWH R4.7.20 =SS BRHET(<9.0) BRHET(<84) BRHEY
10 SRR THT R4.7.20 =S| BRHET(<8.8) BRHET(<L7.8) BRHEY
11 TEH R4.7.20 4R BHEY(<86) BHEY(<6.0) BREEY
12 & F1 R4.7.20 4R BRHEET(L75) BHEY(<6.8) BREEY
13 W= R4.7.20 4R BHEEY(<82) BHEEY(<6.9) BREEY
14 XEF R4.7.20 4R BHEEY(L87) BHEEY(<80) BREEY
15 Aft R4.7.20 4R BRHE9(<8.0) BRHEE3(<L75) BREEY
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